Subject: DropList bug/inconsistency
Posted by slashupp on Sun, 20 Jan 2013 10:09:09 GMT

View Forum Message <> Reply to Message

Program crashes with following code:

DropList dI;

dl.Add("A");
dl.AdA("B");
dl.Add("C");

dl.SetIndex(dl.FindValue("D"));
My opinion is that the current index should clear any selection when it is set to -1

As it is currently | have to Clear() and re-populate the droplist, this is not right, the return values of
FindKey()/FindValue() should be handled by Setindex()
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